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Lösungsblatt 2: Zusammengesetzte Flächen 
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1.

MATHE

Berechne den Umfang der Flächen! 
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2.Berechne den Flächeninhalt! *
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*Die Abbildung ist nicht
maßstabsgerecht

u = 14 m + 14 m + 6 m +
18 m + 8 m + 32 m 
u = 92 m

u = 3,3 cm + 4,8 cm + 2,1 cm
+ 1,7 cm + 1,7 cm + 3,7 cm +
1,2 cm + 1,7 cm + 9,1 cm
u = 29, 3 cm

A1 A2

A3

A4

A1 = 5 m x (11 m - 6 m)
A1 = 5 m x 5 m
A1 = 25 m

A2 = 4 m x 6 m
A2 = 24 m 

A3 = 3 m x (6 m - 2 m)
A3 = 3 m x 4 m
A3 = 12 m
A4 = 1/2 (6 m - 2 m) x (11 m - 8 m)
A4 = 1/2 (4 m) x (3 m)
A4 = 6 m2
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A = A1 + A2 + A3 + A4
A = 25 m + 24 m + 12 m + 6 m 2 2 2 2


